oquiar
L J Assembly Technology 5.31.01

Floor Elements

LA

Mounting Plate

S HEER

To attach leveling foot to strut profile end, however it does
not apply for connecting of castors.

EEXHSE MR, &R THEHEE.
Material: diecast aluminum

MR: EHRE

N
Cleanz
K Room

PG40-40x40 PG40-40x60 PG40-40x80
PG45-45x45 PG45-45x60 PG45-45x90
PG50-50x50

Fastening Set

M6x20 Bolt
zinc plated

M10—M6
Hole Reducer Bolt
nickel plated

Description D ® L1 L2 W1 W2 Fastening Set Ma; Part No.
Tl e (mm) | (mm) | (mm) | (mm) | REAEH ( i %S
Mounting Plate-PG40-4040
% B FEAR 40 5114040 M12 . 40 40 30 30 4x(M6x20) 51 5.31.40.4040
Mounting Plate-PG45-4545 ;
< B FEAR 45 514545 M12 45 45 33 33 4xFC 97 5.31.45.4545
Mounting Plate-PG50-5050
% B 50 515050 M12 8.5 50 50 35 35 4x(M8x30) 130 5.31.50.5050
Mounting Plate-PG40-4060
& B FEAR 40 2 51-4060 M12 60 40 50 30 4x(M6x20) 67 5.31.40.4060
Mounting Plate-PG45-4560
= IR A5 Z 5114560 M12 60 45 48 33 4xFC 108 5.31.45.4560
Mounting Plate-PG40-4080 M12 6.5 80 40 70 30 4x(M6x20) 78 5.31.40.4080.M12
3 HIEEAR-40 2 51-4080 M16 4x(M6x20) 78 | 5.31.40.4080.M16
Mounting Plate-PG45-4590 M12 % 45 78 - 4xFC 131 5.31.45.4590.M12
X BIERARA5 14590 | w16 4xFC 128 | 5.31.45.4590.M16

Note: offer per set (including fastening set).

&1 REMHRE (BYRERMN).

Modular Assembly System [ Modular Conveyor System | Stair and Platform System | Tubular Framing System | Machine Guard System [ www.moduasm.com
R TR % R 5 BRUEERE | TUBSREARSE KEFRURE AR R AllRights Reserved




